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QUESTION 1

When implementing a gigabit Ethernet network, which of the following is the MINIMUM category of cable required? 

A. CAT3 

B. CAT5 

C. CAT5e 

D. CAT6 

Correct Answer: B 

 

QUESTION 2

Which of the following can be used to optimize the bandwidth between connected switches? 

A. Port groups 

B. Trunking 

C. ISL 

D. Routing 

Correct Answer: B 

 

QUESTION 3

Which of the following zoning methods is MOST flexible? 

A. Port zoning 

B. WWPN zoning 

C. ISL 

D. Jumbo frames 

Correct Answer: B 

 

QUESTION 4

Which of the following would MOST easily prevent zoning conflicts and fabric segmentation? 

A. Ensure zoning information from a new storage switch is cleared before adding it to the fabric. 

B. Only configure zoning once at installation; reconfigure all switches if zoning must change. 
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C. Create separate fabrics as zoning can only be configured on one switch. 

D. Configure zoning information on the HBA\\'s not the storage switches. 

Correct Answer: A 

 

QUESTION 5

Which of the following is the BEST way to increase performance of a storage array? 

A. Use larger capacity drives 

B. Increase number of spindles 

C. Use SATA drives 

D. Decrease number of attached hosts 

Correct Answer: B 
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